Řešení 30.-31.3. 
Jednotky délky
74/12
b) 32cm +81mm = 320mm + 81mm = 401mm
c) 6dm8cm +24cm = 68cm + 24cm = 92cm
d) 4m60cm + 2m48cm = 460cm + 248cm = 708cm
e) 8m45cm – 126cm = 845cm – 126cm = 719cm
f) 5m4dm – 32dm = 54dm – 32dm = 22dm
g) 7dm9cm – 54cm = 79cm – 54cm = 25cm
h) 34dm6cm – 25cm = (340+6)cm -25cm =  346cm -25cm = 321cm
76/4
	231min (3x60+51)
	265s  (4x60+25)
	10min

	134min
	4h ( 240:60)
	135min

	540min
	9min (540:60)
	402s

	600s
	3min
	24h



79/5
	2 000kg
	1kg 282g
	2kg

	5 000g
	13kg 4g
	4 000kg

	8t
	4t 72kg
	35 000g

	1 075kg
	3 200g
	7 000g



79/7
5 000g + 400g + 600g + 1 000g + 2kg = 9kg
			2kg = 2 000g
PS 12/5
5 750x(216x2) = 2 484 000g = 2 484kg
216párů  = 2x216 = 432 tuč%náků
Celková hmotnost kolonie je 2 484kg.
PS 12/6
	3 000g
	4 205kg
	5kg 784g

	5 000g
	2 004g
	2kg 27g

	7 000kg
	25kg
	1kg 360g

	35 000g
	15t
	3kg 70g
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